Math Quiz — Seventh Grade

Name: Date:

Vihat ratic can you use to determine the probability of a compound evenl?
Drag words io complele the ratio. Each word may be used only once.

favorable possible

Number of :Iautcnmas
Total number of :]mtmmes

The table shows all the possible outcomes for spinning fhe pointer of a spinner with four equal-sized seclions labelad 1-4 and anolher spinner with four
aqual-sized sechions labsled A-D. What is the probability that the hwo pointers will land on an odd number and the letier C7 Give the probabiity as a
percent. Enter your answes in the bax

P(compound event) =

A | B c D
1(1A| 1B | 1C| 1,0
zlzalz2zB|2G|zD
3(3a]38[3C[3D
alanlaBlac|an

Posdmmer = %

The tree diagram shows the sample space of rolling a cube with faces numbered 1-6 and flipping a fair coin
What is the probability of roling the number 5 and the coin landing heads up?

" X 1
A5 H) = 35

O D pg =L
A5 Hi = 15

The arganized list below shows all possible ouicomes when four fair coins are flipped.
Each coin lands facing either heads up (H) or tails up (T)

HHHH HHHT HTHH HHTT HHTH HTHT HTTH HTTT
TITT TTTHTHTT TTHH TTHT THTH THHT THHH

Vihat is the probability that at |zast three coins land facing tails up? Give the probability as a percent.
Enter your answer in the bax,

Piat least three tails) = E
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Jeremy is randomiy selecting an outfit o celebrale Probabiity Day at his school,

He can choose from a green (G) or purple: (P) shirt, denim (D) or khaki (K) panis, argyle (A) or crew (C) socks,
and bools (B), fip-flops (F) or sneakers (5). What is the probability that Jaremy will select an outfit that
includes flip-flops (F) and argyle (&) socks?

C A Piflip-flops, afqylemhl:%

o

O € pmip-sops. argyie socks) = o

© D mifipfops. argyle socks) = 3¢

i o A
B Pilip-fops, argyle socks) = 3

A fair coin is fipped twice Drag letters to complete the tree diagram to represent the sample space.

H T

Students wil randomiy select a te fom a bag containing one reg, one yellow, one blue. and one green file, and then rol 2 cube with faces numbered 1
through 6. Drag files to compiete the table. Each file may be used only once
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Red R-1 R:2 R-3 —ﬁ R-5 R-6 [
Yelow V2 [ va | vs | v
Bee | B || | B3| B4 | BS | B
Green ‘ ‘ 62 | 63 | ‘ 65 | 66

How many possible lunches can be made consisting of one enirée, one drink. and one snack? Enter your answer in the box.

. |Chicken |Veggie
Entree Lasagna
Drink | Milk VWater leed Tea
Snack | Fruit Chips I-Jello
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